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%HUGDVDUNDQ� SHQJXMLDQ� \DQJ� VXGDK� EHUODQJVXQJ� GLSHUROHK� NHVLPSXODQ�

VHEDJDL�EHULNXW��

D� +XEXQJDQ� (/:'� GHQJDQ� ('&3� EHUGDVDUNDQ� QLODL� NRUHODVL� �U�� VHEHVDU� �������

PHQXQMXNNDQ�WLQJNDW�KXEXQJDQ�DQWDUD�GXD�YDULDEHO�VDQJDW�NXDW��\DLWX�GLDQWDUD�

LQWHUYDO������±������

E� 3HQJDUXK� WLQJJL� MDWXK� SDGD� DODW� /:'� PHPSHQJDUXKL� GHIOHNVL� \DQJ�

PHQJDNLEDWNDQ�SHUEHGDDQ�SDGD�QLODL�PRGXOXV�\DQJ�GLGDSDWNDQ��

����6DUDQ�

D� 3HUOXQ\D�EDKDQ��SHPEDQGLQJ�YDULDVL��SDGD�PDWHULDO�DJUHJDW�NHODV�$�VHSHUWL�

PDWHULDO�DJUHJDW�WLSH�$�GLVWDELOLVDVLNDQ�GHQJDQ��PHQJJXQDNDQ�NDSXU�DWDX�

VHPHQ�DJDU�GLNHWDKXL�SHUEHGDDQ�GDQ�WLQJNDW�NHNXDWDQ�\DQJ�GL�GDSDWNDQ�XQWXN�

ODSLV�SRQGDVL��EDVH�FRXUVH��


